

DMC No. 000001
 Roll No. 245125323
 Regn. No. 24-DEO-476

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : ARVINDER SINGH
 Father's Name : AMARJIT SINGH
 Mother's Name : MANJINDER KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	50 30	40AG	100	A+	9	04.0	36.0
2	MAMC-302 TV JOURNALISM	56 30	40AG	100	O	10	04.0	40.0
3	MAMC-303 PUBLIC RELATIONS	54 29	40AG	100	A+	9	04.0	36.0
4	MAMC-304 COMMUNICATION RESEARCH	52 22	40AG	100	A	8	04.0	32.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	AB AB F	40AG	100	F	0	04.0	0
6	OEES-15 INDIA AND THE WORLS	AB AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0550			22.0	144.0
							16.0	144.0

RESULT : RE - TILL JUN- 2027 IN : MAMC-305 OEES-15

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000002
 Roll No. 245125324
 Regn. No. 24-DEO-461

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : UJJWAL ANURAG
 Father's Name : VINOD SINGH
 Mother's Name : URMILA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	51 29	40AG	100	A+	9	04.0	36.0
2	MAMC-302 TV JOURNALISM	58 29	40AG	100	O	10	04.0	40.0
3	MAMC-303 PUBLIC RELATIONS	56 29	40AG	100	O	10	04.0	40.0
4	MAMC-304 COMMUNICATION RESEARCH	57 29	40AG	100	O	10	04.0	40.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	59 29	40AG	100	O	10	04.0	40.0
6	OEES-15 INDIA AND THE WORLS	30 15	20AG	050	O	10	02.0	20.0
	TOTAL	0471		0550			22.0	216.0
	GRAND TOTAL	0471		0550			22.0	216.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.82

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000003
 Roll No. 245125327
 Regn. No. 24-DEO-463

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : MANSI
 Father's Name : RAJA RAM PRASAD
 Mother's Name : SHOBHA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	46 29	40AG	100	A+	9	04.0	36.0
2	MAMC-302 TV JOURNALISM	59 25	40AG	100	A+	9	04.0	36.0
3	MAMC-303 PUBLIC RELATIONS	57 24	40AG	100	A+	9	04.0	36.0
4	MAMC-304 COMMUNICATION RESEARCH	60 26	40AG	100	O	10	04.0	40.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	58 25	40AG	100	A+	9	04.0	36.0
6	OEES-15 INDIA AND THE WORLS	32 14	20AG	050	O	10	02.0	20.0
	TOTAL	0455		0550			22.0	204.0
	GRAND TOTAL	0455		0550			22.0	204.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.27

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000004
 Roll No. 245125328
 Regn. No. 24-DEO-464

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : PARDEEP KUMAR
 Father's Name : KASTURI LAL
 Mother's Name : PUSHPA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	42 25	40AG	100	A	8	04.0	32.0
2	MAMC-302 TV JOURNALISM	50 24	40AG	100	A	8	04.0	32.0
3	MAMC-303 PUBLIC RELATIONS	46 28	40AG	100	A	8	04.0	32.0
4	MAMC-304 COMMUNICATION RESEARCH	45 29	40AG	100	A	8	04.0	32.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	41 21	40AG	100	B+	7	04.0	28.0
6	OEES-15 INDIA AND THE WORLS	28 10	20AG	050	A+	9	02.0	18.0
	TOTAL	0389		0550			22.0	174.0
	GRAND TOTAL	0389		0550			22.0	174.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.91

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000005
 Roll No. 245125329
 Regn. No. 24-DEO-466

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : GURBHEJ SINGH
 Father's Name : NAND SINGH
 Mother's Name : PARMJEET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	38 26	40AG	100	B+	7	04.0	28.0
2	MAMC-302 TV JOURNALISM	53 21	40AG	100	A	8	04.0	32.0
3	MAMC-303 PUBLIC RELATIONS	49 27	40AG	100	A+	9	04.0	36.0
4	MAMC-304 COMMUNICATION RESEARCH	50 28	40AG	100	A+	9	04.0	36.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	52 26	40AG	100	A+	9	04.0	36.0
6	OEES-15 INDIA AND THE WORLS	29 13	20AG	050	A+	9	02.0	18.0
	TOTAL	0412		0550			22.0	186.0
	GRAND TOTAL	0412		0550			22.0	186.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.45

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000006
 Roll No. 245125330
 Regn. No. 24-DEO-468

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : ANANYA KARAN SRIVASTAVA
 Father's Name : SANDEEP KUMAR SRIVASTAVA
 Mother's Name : SNEHLATA SRIVASTAVA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	59 29	40AG	100	O	10	04.0	40.0
2	MAMC-302 TV JOURNALISM	61 30	40AG	100	O	10	04.0	40.0
3	MAMC-303 PUBLIC RELATIONS	58 29	40AG	100	O	10	04.0	40.0
4	MAMC-304 COMMUNICATION RESEARCH	59 30	40AG	100	O	10	04.0	40.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	58 29	40AG	100	O	10	04.0	40.0
6	OEES-15 INDIA AND THE WORLS	31 14	20AG	050	O	10	02.0	20.0
	TOTAL	0487		0550			22.0	220.0
	GRAND TOTAL	0487		0550			22.0	220.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

DMC No. 000007
 Roll No. 245125332
 Regn. No. 24-DEO-470

Name : SIMRANJEET KAUR
 Father's Name : BALWINDER SINGH
 Mother's Name : JAGJIT KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	33 26	40AG	100	B+	7	04.0	28.0
2	MAMC-302 TV JOURNALISM	40 22	40AG	100	B+	7	04.0	28.0
3	MAMC-303 PUBLIC RELATIONS	43 23	40AG	100	A	8	04.0	32.0
4	MAMC-304 COMMUNICATION RESEARCH	51 27	40AG	100	A+	9	04.0	36.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	47 21	40AG	100	A	8	04.0	32.0
6	OEES-15 INDIA AND THE WORLS	29 12	20AG	050	A+	9	02.0	18.0
	TOTAL	0374		0550			22.0	174.0
	GRAND TOTAL	0374		0550			22.0	174.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.91

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000008
 Roll No. 245125334
 Regn. No. 24-DEO-472

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : SATENDRA KUMAR
 Father's Name : DHARAMPAL SINGH
 Mother's Name : BRIJESHI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	35 24	40AG	100	B+	7	04.0	28.0
2	MAMC-302 TV JOURNALISM	47 13	40AG	100	B+	7	04.0	28.0
3	MAMC-303 PUBLIC RELATIONS	34 20	40AG	100	B	6	04.0	24.0
4	MAMC-304 COMMUNICATION RESEARCH	35 26	40AG	100	B+	7	04.0	28.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	39 21	40AG	100	B+	7	04.0	28.0
6	OEES-15 INDIA AND THE WORLS	23 8	20AG	050	B+	7	02.0	14.0
	TOTAL	0325		0550			22.0	150.0
	GRAND TOTAL	0325		0550			22.0	150.0

RESULT : PASSED AND HAS OBTAINED : SGPA 6.82

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000009
 Roll No. 245125335
 Regn. No. 24-DEO-473

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : TWINKLE
 Father's Name : VIJAY KUMAR
 Mother's Name : ILA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	45 27	40AG	100	A	8	04.0	32.0
2	MAMC-302 TV JOURNALISM	54 23	40AG	100	A+	9	04.0	36.0
3	MAMC-303 PUBLIC RELATIONS	48 21	40AG	100	A	8	04.0	32.0
4	MAMC-304 COMMUNICATION RESEARCH	21 9 F	40AG	100	F	0	04.0	0
5	MAMC-305 COMMUNICATION TECHNOLOGY	51 22	40AG	100	A	8	04.0	32.0
6	OEES-15 INDIA AND THE WORLS	29 12	20AG	050	A+	9	02.0	18.0
	TOTAL	***		0550			22.0	150.0
							22.0	150.0

RESULT : RE - TILL JUN- 2027 IN : MAMC-304

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000010
 Roll No. 245125339
 Regn. No. 24-DEO-453

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : DEV DARSHAN SHARMA
 Father's Name : MANGAL CHAND SHARMA
 Mother's Name : SNEH LATA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	51 17	40AG	100	A	8	04.0	32.0
2	MAMC-302 TV JOURNALISM	60 13	40AG	100	A	8	04.0	32.0
3	MAMC-303 PUBLIC RELATIONS	55 8	40AG	100	B+	7	04.0	28.0
4	MAMC-304 COMMUNICATION RESEARCH	64 11	40AG	100	A+	9	04.0	36.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	59 12	40AG	100	A	8	04.0	32.0
6	OEES-15 INDIA AND THE WORLS	30 5	20AG	050	A	8	02.0	16.0
	TOTAL	0385		0550			22.0	176.0
	GRAND TOTAL	0385		0550			22.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000011
 Roll No. 245125340
 Regn. No. 24-DEO-456

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : YASH TANWAR
 Father's Name : NEERAJ TANWAR
 Mother's Name : NEHA TANWAR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	43 28	40AG	100	A	8	04.0	32.0
2	MAMC-302 TV JOURNALISM	54 29	40AG	100	A+	9	04.0	36.0
3	MAMC-303 PUBLIC RELATIONS	54 29	40AG	100	A+	9	04.0	36.0
4	MAMC-304 COMMUNICATION RESEARCH	44 29	40AG	100	A	8	04.0	32.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	44 26	40AG	100	A	8	04.0	32.0
6	OEES-15 INDIA AND THE WORLS	26 15	20AG	050	A+	9	02.0	18.0
	TOTAL	0421		0550			22.0	186.0
	GRAND TOTAL	0421		0550			22.0	186.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.45

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000012
 Roll No. 245125341
 Regn. No. 24-DEO-457

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : PRASHANSA JAIN
 Father's Name : ASHISH JAIN
 Mother's Name : MEENU JAIN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	52 30	40AG	100	A+	9	04.0	36.0
2	MAMC-302 TV JOURNALISM	61 30	40AG	100	O	10	04.0	40.0
3	MAMC-303 PUBLIC RELATIONS	53 28	40AG	100	A+	9	04.0	36.0
4	MAMC-304 COMMUNICATION RESEARCH	59 30	40AG	100	O	10	04.0	40.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	57 28	40AG	100	O	10	04.0	40.0
6	OEES-15 INDIA AND THE WORLDS	31 14	20AG	050	O	10	02.0	20.0
	TOTAL	0473		0550			22.0	212.0
	GRAND TOTAL	0473		0550			22.0	212.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.64

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000013
 Roll No. 245125342
 Regn. No. 24-DEO-460

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : ABHISHEK GHOSH
 Father's Name : ASHISH GHOSH
 Mother's Name : JAYATI GHOSH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	48 21	40AG	100	A	8	04.0	32.0
2	MAMC-302 TV JOURNALISM	65 26	40AG	100	O	10	04.0	40.0
3	MAMC-303 PUBLIC RELATIONS	54 27	40AG	100	A+	9	04.0	36.0
4	MAMC-304 COMMUNICATION RESEARCH	52 12	40AG	100	B+	7	04.0	28.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	55 23	40AG	100	A+	9	04.0	36.0
6	OEES-15 INDIA AND THE WORLS	31 9	20AG	050	A+	9	02.0	18.0
	TOTAL	0423		0550			22.0	190.0
	GRAND TOTAL	0423		0550			22.0	190.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.64

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000014
 Roll No. 245125344
 Regn. No. 24-DEO-467

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-03 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : SUMIT
 Father's Name : SURENDER SINGH
 Mother's Name : SATISHA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-301 EDITING	39 28	40AG	100	A	8	04.0	32.0
2	MAMC-302 TV JOURNALISM	60 26	40AG	100	O	10	04.0	40.0
3	MAMC-303 PUBLIC RELATIONS	58 27	40AG	100	O	10	04.0	40.0
4	MAMC-304 COMMUNICATION RESEARCH	54 27	40AG	100	A+	9	04.0	36.0
5	MAMC-305 COMMUNICATION TECHNOLOGY	61 27	40AG	100	O	10	04.0	40.0
6	OEES-15 INDIA AND THE WORLS	31 12	20AG	050	O	10	02.0	20.0
	TOTAL	0450		0550			22.0	208.0
	GRAND TOTAL	0450		0550			22.0	208.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.45

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____